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On an antelope’s skull, the eye sockets are situated on the side of the head.
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This is because this animal spends a lot of its time with its head bent down to eat a

low-nutrient food: grass.
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While the animal is busy grazing, there will be predators out stalking for their food, so the
antelope needs the greatest possible range of vision so that it has the maximum chance of

seeing its predator and making an escape.
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With the eye sockets at the back of the head and on the side, it can see nearly 360° around
itself.
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The eye of the antelope is also at the back of its head, giving it a long nose.
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If the eyes were at the front of the skull, vision would be obscured by long grass, so its long

nose also gives an evolutionary advantage.
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On an antelope’s skull, the eye sockets are situated on the side of the head. This is because
this animal spends a lot of its time with its head bent down to eat a low-nutrient food: grass.
While the animal is busy grazing, there will be predators out stalking for their food, so the
antelope needs the greatest possible range of vision so that it has the maximum chance of
seeing its predator and making an escape. With the eye sockets at the back of the head and
on the side, it can see nearly 360° around itself. The eye of the antelope is also at the back of
its head, giving it a long nose. If the eyes were at the front of the skull, vision would be

obscured by long grass, so its long nose also gives an evolutionary advantage.

(@ Better Predator Detection: Eyes’ Location Matters!
@ Escaping as a Primary Defense Tactic in a Field
® Closer Eyes, Less Accurate Distance Perception

@ A Win-Win Survival Strategy for Prey and Predator

® Why Do Animals Have Longer Noses than Humans
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Better Predator Detection: Eyes’ Location Matters
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Escaping as a Primary Defense Tactic in a Field
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Closer Eyes, Less Accurate Distance Perception
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A Win-Win Survival Strategy for Prey and Predator
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Why Do Animals Have Longer Noses than Humans?
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The animal in a conflict between attacking a rival and fleeing may initially not have sufficient

information to enable it to make a decision straight away.
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@ If the rival is likely to win the fight, then the optimal decision would be to give up

immediately and not risk getting injured.
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@ But if the rival is weak and easily defeatable, then there could be considerable benefit in

going ahead and obtaining the territory, females, food or whatever is at stake.
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@ By taking a little extra time to collect information about the opponent, the animal is more
likely to reach a decision that maximizes its chances of winning than if it takes a decision

without such information.
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® Many signals are now seen as having this information gathering or ‘assessment’ function,
directly contributing to the mechanism of the decision-making process by supplying vital

information about the likely outcomes of the various options.
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The animal in a conflict between attacking a rival and fleeing may initially not have sufficient
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information to enable it to make a decision straight away. @ If the rival is likely to win the
fight, then the optimal decision would be to give up immediately and not risk getting injured.
@ But if the rival is weak and easily defeatable, then there could be considerable benefit in
going ahead and obtaining the territory, females, food or whatever is at stake. ® Animals
under normal circumstances maintain a very constant body weight and they eat and drink
enough for their needs at regular intervals. @ By taking a little extra time to collect
information about the opponent, the animal is more likely to reach a decision that maximizes
its chances of winning than if it takes a decision without such information. ® Many signals are
now seen as having this information gathering or ‘assessment’ function, directly contributing to
the mechanism of the decision-making process by supplying vital information about the likely

outcomes of the various options.
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Animals under normal circumstances maintain a very constant body weight and they eat and drink
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enough for their needs at regular intervals.
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They tied the tent to a wooden stake.

Je= 2 F710 8 =2 2Lk W2 =, =]

He put a large stake on the game.
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There is a lot at stake in this decision.
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